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Chapter 1

Week 1

1.1 Friday, 15 Jan 2016

1.1.1 Fluid element

Consider a cube of length licgion. We require that the properties of fluid element to be simply defined and
not vary across the length scale of the element. Mathematically:

q
lregion << lscale ~ w (11)
for a quantity q. We also require that the number of particles contained within the element is large:
3
nlregion >>1 (12)

We also require that, for a collisional fluid, the mean free path be small compared to the characteristic scale,
so that the collisions will serve to maximize the entropy and achieve a well defined pressure:

lregion >> A (1.3)

Note that for a collisionless fluid, A = l;cgion 50 that the system retains the memory of the initial velocity
field and does not achieve the final velocity distribution that maximizes the entropy. In such a case, pressure
is not a well-defined quantity.

1.1.2 Relationship between Lagrangian and Eulerian descriptions

Consider a scalar field Q(7,t). Consider two points (7, t) — (¥ + 7, t + dt). Then the total derivative is:

%Cf - lQ(r + 07t tsft) ~ Q(R,1) (1.4)
We re-write the numerator by Taylor expansion:

Q(F + 07, t + 0t) — Q(7,t) = Q(F + o7, t + 6t) — Q(7, t + 6t) + Q(7,t + 6t) — Q(7, %) (1.5)

= (VQ(7,t + bt)) - 07 + %f’t) 5t (1.6)

7t
=67 | VQ(F,t) + ngif’ t)6t+...] + 6@((;, ) Hét (1.7)
— 57 VO(F 1) + anZ’ D 5t to first order (1.8)
7t
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Hence we have the recipe for the derivative:

=

D 0

E=§+UV, u

SE

N N N . . . . . o N . . . —
The Lagrangian derivative is %7 the Eulerian derivative is 5; and the convective derivative is i - V.

1.1.3 Fluid Kinematics

e Streamlines: lines so that the tangent to the line at each point points in the direction of the local fluid

velocity. In other words:
dr
— xu=0 1.10
g5 XU (1.10)

e Particle paths: are the trajectories of the fluid particles:

dr

— = (7t 1.11

(i) (111)

e Streaklines: the locus of points such that these points have passed through a fixed point 74 at some
earlier point in time:

{F13t < t',7(t) = 70} (1.12)
1.2 Monday 18 Jan 2016
1.2.1 Mass conservation
The rate of mass change is given by:
0
5 VpdV (1.13)

Provided that there are no sources and sinks of matter (which is a reasonable assumption), then the rate of
change is solely due to the flow of mass across the boundary. Define inflow to be positive. Then:

i pdV = —f pil - dS (1.14)
ot v s

where the negative sign comes fro the definition of the infinitesimal area vector as pointing outwards. Then
the divergence theorem gives (after generalizing to all volumes):
0
V(i) + 2L =0 (1.15)
ot
which is the mass conservation relation/continuity equation in the Euler perspective. In the Lagrangian
point of view, we replace the partial time derivative and obtain:

Do o Dp 5
V-(pu)—kﬁt—u-Vp—O:E—kawu—O (1.16)

The definition of an incompressible fluid is that % = 0. It is not the same as taking the partial derivative

with respect to time to be vanishing. Then using the Lagrangian point of view, the divergence of a velocity
field for an incompressible fluid must vanish.
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1.2.2 Gas Pressure
Write the force per unit volume along any direction as:
ds;

— (1.17)
|dS;]

Fi = Uij

where o;; is the stress tensor. The diagonal terms correspond to the pressure: o4 = p.

1.2.3 Momentum equation

Consider the pressure acting on a surface element along the n direction: fpdg -n. The net force due to
pressure is the integral:

Fz—fpﬁ-ngJV(pﬁ)dV:fJ i VpdV (1.18)
S 14 14

because V - = 0 since 7 is a constant.

Now let gravity act on the fluid. We evaluate the rate of change of momentum per unit volume along n:

D
(J pﬂ’dV) = —f ﬁ.vpdv+ﬁ-J pGdV (1.19)
Dt Jy v v

Note that the signs of gravity and pressure gradient are opposite. Now we consider the limit where V =
§dV = 6V — 0. Then we replace the integrals:

(gt(pﬁ(ﬂ/)) ‘n=—n-VpdV +n - pgoV (1.20)

Note that pdV is the mass of the fluid element. Under mass conservation, we make take pdV to be constant
as we following the fluid element in time:

D
pévaﬁ' n=—n-VpiV +n-pgoV (1.21)
Now this equality must hold for all §V, 7, and hence we have:
D
— U =— 7l 1.22
P58 = VP +pg (1.22)

This is the Momentum equation in Lagrangian form. Note further that we can write it out in Eulerian
form in:

ol R . ~

pa; Tt p(t- V)i =—=Vp+ pg (1.23)

1.2.4 More about the stress tensor

Consider the rate of change of momentum in Eulerian form:

0 ou; aop
%(pul) =r + uigy (1.24)

Substituting the momentum equation for pdyu;, we obtain:

0 0
= (o) = wi sy = plu;d)us = 0;(p3;) + pgs (1.25)
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Now by the continuity equation, d;p = —0;(pu;). Hence we have:

0

a(ﬁui) = —0;(puju; + pdi;) + pgi (1.26)
The term 0;(puju;) is called the ram pressure. Note that we wrote the pressure using the Kronecker delta
so that we can bring the pressure term into the partial derivative with respect to j instead of i. We hence
have the terms of the stress tensor:

Tij = pujti + poi (1.27)
so that the momentum change is given by:
d(pui)
ot = 0045 + pYi (1.28)

Example Consider fluid flowing through a pipe aligned in the § direction. The diagonal terms of the stress
tensor is given by the pressure. Doing an average over the fluid motion, and noting that there is a bulk flow
of the motion along the ¢ direction ,we note that we must include an additional ram pressure in the oy,
term:

p 0 0
o= 0 p+pu* 0O (1.29)
0 0 P

All other ram pressure components u;u; average to zero if the fluid is isotropic other than the ¢ flow.

Example applied to astrophysics Consider a galaxy with cross section radius Ry flowing through the
intercluster medium. The ram pressure is given by pram = proarv?. The amount of swept-up material from
the ICM is also given by WR(ij[C mv. Hence we note that the momentum transfer to the galaxy (per unit
cross-sectional area) from the ICM is just the mass transfer multiplied by the relative velocity v.

1.3 Wednesday 20 Jan 2016

1.3.1 Conservative force

Recall that a conservative force can be written as the gradient of a potential (scaling constant and sign
arbitrary). The following are equivalent:

F=V¢ (1.30)
%ﬁ-dho (1.31)
1.3.2 Gravitational potential
We define:
g=-Vy (1.32)

1.3.3 Poisson Equation

For continuous systems,

(1.33)
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First consider taking the divergence of an inverse square field:

7:'
Vol —= 1.34
(77) 139
Integrating both sides over a vanishing volume and noting that the integral is constant, we note that:
" 4o (7
VT W = 4am (7") (135)
Hence we may take the derivative of both sides of the gravitational field equation:
V, = —4rG f p(7)(F — )P = — A Gipl) (1.36)
Using the definition of the gravitational potential, we hence obtain Poisson’s equation:
V2 + 4nGp(F) = 0 (1.37)

In integral form:

J g d§ = _47rGMenc (138)
S



Chapter 2

Week 2

2.1 Friday 22 Jan 2016

2.1.1 Gravitational binding energy

SOV 1)

J;éz 7

For a continuous system:
1 M
Q=3 Jde — —Gf (2.2)

2.1.2 Virial theorem

Consider the second derivative of the moment of inertia:

1d%I

iﬁ:Zﬁ-ﬁi—&—2T (2.3)

where T is the total kinetic energy of the system. The term ), 7 - F, is called the virial V. Considering
N3L,

V=2 Fi (7= 7)) (24)

i j>i

Note that for an ideal gas interacting through gravity alone:

Vo Z 2 Gmlmj (2.5)

i J>1

which we realize is simply the potential energy of the system. Then:

1d*I

———=2T+Q 2.6

3 di? - (2:6)
If the system is in steady state, the time derivative vanishes, hence we have: 2T = —() for a gravitating ideal

gas in equilibrium.
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2.1.3 Effect of external pressure
The Jean’s equation is:

1d%I

—— =2T+Q+ % 2.7

5 di? A 27)
where ¥ is called the surface tension term, which arises if the system is embedded in an environment with

a Nnonzero pressure.

Example Consider a uniform gas cloud with v = 5/3, temperature T, radius r.;, total mass M and gas
mass Mgqs. The total gravitational effect is hence contributed by the total mass, but the baryonic matter
is only given by Mgqs. Assume no bulk motions. Let there be an external pressure around the cloud pes:.
The specific thermal energy is given by:
kT
= B (2.8)
(v = Dpmg

where p is the mean molecular weight. The total kinetic energy is hence T' = Mgyq,u. The total potential
energy due to gravitational binding will only be calculated for the interaction between a thin spherical gas
shell and the total enclosed mass. Hence we need to take pgqs and p:o: in the calculation, and obtain:

3G My M
Q= _——-9°_ 2.9
a— (2.9)
The surface tension term is:
Q = —4nr3 Poyy (2.10)
which is the work done by the external pressure. Putting these terms together,
kpT 3G Myas M
2Mgas B - g - 4777’31Pext =0 (211)

(y=Dumg 5 1y
The virial temperature can be obtained by solving for T in the absence of an external pressure (taking
v =5/3):

_ pmpGM

Tyir = (2.12)

5kprel

Hence the heavier the cloud for the same radius, the hotter the cloud has to be to avoid collapse and remain
at steady state. If there exists an external pressure, then the temperature of the cloud has to be higher than
the virial temperature to prevent collapse.

2.2 Monday 25 Jan 2016

2.2.1 Equation of state for ideal gas

_ R

T 2.13
P (2.13)

p

where R, is the modified gas constant numerically equal to 1000R = 8300JK ~'mol~' and u is the mean
molecular weight in kilograms.

10
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2.2.2 Barotropic equation of state

is such that pressure is only a function of density (no need to take temperature into account). For the
adiabatic case:

o % (2.14)

Start from the 1st law (use total differentials for a reversible process):

dQ = de + pdV (2.15)
de(T)
= 2.1
¢, =% .10
RyT 1
dQ = C,dT dvV, = — 2.1
= dQ =C + v V., »p % (2.17)

Note that for a reversible process, entropy is a constant and d@ = 0. Dividing by T"

CodInT + Re v — 0 (2.18)
1%

— VoI~ Cvr/ R (2.19)

— pocTHH O/ (Rae/1) (2.20)

Note that in the classical limit we can also write:

C, = f% (2.21)

. . . 3R

where f is the number of degrees of freedom in the case. For a monoatomic gas, we have C, = 2u* and for
5R*

2p "

the diatomic gas, we have C, =

We may now manipulate the 1st law by using the total derivative:

d(pV) = %dT (2.22)
de Ry
a0 = (%€ LR gp g 29
Q ( % M) Vip (2.23)

where the term in the parenthesis is the specific heat capacity at constant pressure. In terms of v = %, we
hence have the scaling relations:

pocT/ (01 (2.24)
Vo0 (2.25)
= pocV 7 (2.26)
Note that K can either be constant locally (each fluid element has its own K and constant energy content)

or globally (isentropic fluid where K is the same for every element).

2.2.3 Energy Equation
We now choose to be exceedingly confusing and define the work to be done by the fluid element to write:

De DW _DQ

Dt Dt ' Dt (2.28)

11
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The differential work done by the fluid element is defined dW = —pdV =— % = p%D—f where we used
p= % We also define %c,tg = chool, the cooling function. Then:

De p Dp .

A e A T 2.29

Dt = 2Dt Qcool (2.29)
Now we consider the total energy per unit volume in order to use the continuity equations:

1
E = p(§u2 +1h+e) (2.30)

Using the definition of the Lagrangian total derivative:

DFE oE Dp E . Du Dy pDp
— == +d - VE)=—"—+ P+ S 2.31
Dt < ot > Dtp P (“ Dt "Dt T2 Yoo (2:31)
We can use the continuity equation to replace % and the momentum equation to replace %f and obtain:

oE oY :
ot + V- [(E er)u] = pa — PQcool (2'32)

where we note that E has the same units of p because we are looking at the energy per unit volume.

2.3 Wednesday, 27 Jan 2016

2.3.1 Hydrostatic equilibrium

We set @ = 0 and set all time derivatives to zero. Then the continuity equation is trivially satisfied. The
momentum equation in Eulerian form gives:

0=—-Vp—pVU¥ (2.33)

which is the condition for hydrostatic equilibrium. The other equation to use is Poisson’s equation.

Now assume Barotropic flow p(p).

2.3.2 Case 1: Isothermal slab

Use the ideal gas equation p = % = Ap. Then the hydrostatic equilibrium condition gives:
A@ =-VVU (2.34)
p
1 v
Adne Yy 4L g, (2.35)
dz dz 00
== p= poef(q/*q/o)/A (236)
Poisson’s equation requires:
4> —(U—Wp)/A
= 47 Gpoe ( 0)/ (2.37)
Make the change of variables:
v -y,
X = I (2.38)
2rGp
7 = 2.
2= (2.39)

12
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which gives the new DE:

% = —2eX
with boundary conditions:

W(Z=0)=0

% Z=0 =Y

Rearranging the DE:

— —2tanh 'V1—eX+Co =27, Cy=0
— x = In(1 — tanh?*(—2))
— x = In(1 — tanh® 2)

Po
2 [2rG
cosh <z ”A”O>

2.3.3 Case 2: Earth’s Atmosphere
We want to solve the ODE:

p:

Vb =-—VU = —gr

p
which is an exponential atmosphere:

—pngz

p = poe™*T

2.3.4 Stars

Proceed in spherical polar coordinates. The hydrostatic equilibrium condition is:

dp _  d¥
dr pdr

(2.40)

(2.41)

(2.42)

(2.43)

(2.44)

2.45

2.46
2.47
2.48

~ o~ o~ o~
O — =

(2.49)

(2.50)

(2.51)

(2.52)

We require that the density be positive and we note that since all the parameters are radially symmetric,

we can just write the pressure and density as functions of the gravitational potential:

(2.53)

Hence the surfaces of constant density, pressure and gravitational potential coincide, and we call this situa-

tion a barotrope.

13
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2.3.5 Polytropes - another barotropic equation of state

Let:
p=Kp't/" (2.54)

where n is the barotropic index. Then the density can be written as a function of the gravitational potential:

Uy — U \"
= — 2.55
P ((n + 1)K) (2.55)
where p. is the density at the center of the star. The boundary conditions are:
p =0 at surface (2.56)
V., p. atr=0 (2.57)
Non-dimensionalizing the equation:
Upr — U
0= — 2.
S-S (2.58)
4nGp
2 c nn
0=——-—"7-6 2.
= V —— (2.59)

Introducing the scaled radius:

47 Gp,
_ 2.
¢ e \I/Cr (2.60)

Then the relation between the radius and the gravitational potential becomes:

1d [(,d0\
M(sdg)— f

which is called the Lane-Emden equation.

14



Chapter 3

Week 3

3.1 Friday 29 Jan 2015

3.1.1 Solution to Lane-Emden Equations

Recall that we wanted to solve:

1d (,d0\ .
e&(f@)‘*

Consider n = o0 so that the pressure is proportional to the density, which is the isothermal condition. The
solution will be that pocr=2 = Mocr. Objects that satisfy this are called Bonner-Ebert spheres. Since the
mass included goes to infinity as r goes to infinity, we need to truncate the star at a physical radius, then
treat the effect of the external mass as exerting an external pressure stabilizing the star.

3.1.2 Scaling relations

For a fixed polytropic index n, assume that the proportionality constant K from P = Kp'*1/" is the same

for each star in the family of solutions. Then we want to see how each parameter scales with the central
density p.. Eliminating ¥ — ¥, from the dimensionless parameters, we obtain that:

MocpB/n=1/2 (3.1)
rocpt/n=1/2 (3.2)
— MocrG—m/0=n) (3.3)

If the star has an adiabatic equation of state with v =5/3 = n = % = Mocr—3. This, however, is not

observed. We observe that Mocr instead. It is not true that K is constant for a fixed value of n. A better
approximation is to take the core temperature 7T, to be the same across the family. Then at the center, we
have a relation between K and p,:

Kocp t/m (3.4)

and this will give Mocr.

3.1.3 Timescales of hydrostatic equilibrium

The propagation of disturbances through the fluid is given by the speed of sound:
th~ = (3.5)

Cs

This is approximately 1 day for the sun te 4.

15
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3.1.4 Thermal timescale

Epot
3.6
L (3.6)

ten ~

where L is the luminosity. For the Sun, t ;, = 30Myrs. Hence the hydrostatic timescale is much faster than
the thermal timescale.

The relative size of these timescales gives the mode by which the star adapts its radius to an amount of mass
dumped on the surface. Note that for an adiabatic change, mass scales as Mocr(3=)/(1=7)  Hence for an
increase in mass, the star will move towards the adiabatic scaling line in the short term (short hydrostatic
equilibrium timescale). In the long term (thermal timescale), the star will move back to the scaling line for
Mocr for the constant central temperature.

3.1.5 Accreting rotating star

Consider a star with angular velocity €. Let a small amount of mass AM be added. We conserve angular
momentum:

Joc Mr2Q (3.7)
Hence for a change Q — Q + A, we require that:

AQ A(Mr?)
T (38)
Now we model the addition of mass as an adiabatic process. Hence we have a relation between the mass and

radius, and:

AQ=_<5—3n>AM 59)

Q) 3—n M

Hence the sign of the angular velocity change will be determined by the sign of the term in the parenthesis.

3.2 Monday 1 Feb 2016

3.2.1 Case 1: Uniform medium

Consider the continuity equation and the momentum equation in the absence of gravity:

op (pid) =

a V - (pi) (3.10)
T |
= + (@ V)i = pvp (3.11)

Let the unperturbed system have uniform pressure Py, density py and zero velocity @y = 0. Let it be at
steady state. Now consider a perturbation of the form:

P=Py+ AP (3.12)
p=po+Ap (3.13)
7= Ai (3.14)

These are Lagrangian perturbations, that is, perturbations to a single fluid element.

16
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3.2.2 Eulerian perturbations

Interconvert using the Lagrangian derivative:
Sp=A0p—E-Vp (3.15)
where § represents Eulerian perturbations and A represents Lagrangian perturbations.
Now E is the differential displacement of the fluid element.
Note that in this uniform case, the gradient of the unperturbed quantities vanishes, hence the Lagrangian

perturbation is exactly equal to the Eulerian perturbation. Substituting these perturbations into the fluid
equations and doing grungy algebra to first order, we end up with:

A
Latp +poV AT =0 (3.16)
0AU 1
— =-——V(AP 1
& =P (317)
Now we implement an additional assumption that the fluid is barotropic P(p) = VP(p) = %Vp. Hence:
OAUL 1dP
__LadPoi 1
o o V(Ap) (3.18)
Combining,
P?Ap  dP_,
= —V*(A 1
o~ V) (319)

which is a wave equation. Moving into the Fourier domain, let Ap = Apoei(’;'f_“t)

2 deQ

—w = —— 3.20
w i (3.20)
w dP
=—=\]l— =cs 3.21
= Up k‘ dp ¢ ( )
Substituting this ansatz into the Au solution, we obtain that the velocity perturbation is given by:
A Lo ~
AG = L2 giRi—ut)f (3.22)

k po

Hence the velocity perturbation is in phase with the density perturbation. Also, since the density perturba-
tion is small, we have:

|A] << ¢4 (3.23)

Observe that the functional equation P(p) depends on whether the sound propagation is conducted in an
isothermal manner or adiabatic manner. This may or may not be the same condition as the unperturbed
medium. This means that a medium that is initially isothermal can experience adiabatic perturbations. In
each case:

cor = 1| 2L (3.24)
U
Con = R";]T (3.25)
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3.3 Wednesday 03 Feb 2016

3.3.1 Sound propagation in non-uniform medium

Consider sound waves propagating in an isothermal atmosphere experiencing constant gravitational accel-
eration. By symmetry, sound waves moving in the horizontal direction are not affected by the atmosphere.
We hence examine sound waves in the vertical direction and consider all functions of z alone. Then by the
continuity and momentum equations (u is velocity in the z-direction):

op 0

ou ou 10P

i - - 2
ot * Yoz p 0z g (3:27)

The equilibrium solution corresponds to uy = 0 and po(z) = poe #H H = %. The pressure is also

Py(z) = Pye=*M as well. We hence consider a Lagrangian perturbation about this equilibrium state:

u=Au (3.28)
p=po(z) +Ap (3.29)
P = Py(z) + AP (3.30)

Recall that the relation between Lagrangian and Eulerian perturbations was:

Sp=Ap—E-Vp (3.31)
Then the Eulerian perturbations are:
o = Ad (3.32)
dpo(z)
= Ap — .
0p = Dp— &= (3.33)
5P =AP—¢, a}:;(z) (3.34)
z

Note that the differential displacements are related to the velocity by:

€ o -0
Adl=—==2=24u4-VE&E= =, dpg=0 3.35
U= T TE Ve W (3:35)
Substituting these Eulerian perturbations into the Eulerian continuity and momentum equations, and sifting

through the grungy algebra, we obtain:

0Ap 0Au,
W + pPo 02 =0 (336)
0Au, c2 0Ap dPy(z)
ot po 0z Cu = \/ dpo(2) (3.37)
Combining,
0*Ap 0 2 0Ap
- 2 u 7P 3.38
ot? polz 0z <p0(z) 0z ) (3:38)
Note that ‘;fg((z; = constant. Then we have:
02A ’A 2 0A

oz w2 T H o2
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Moving into the Fourier domain, we make the ansatz Apoce!*2=«*) Then we obtain the dispersion relation:
2 15
—w? + 2k — %zkz =0 = w?'=¢2 (k2 - L,) (3.40)
Inverting,
. 5 1
k(w) = — w (3.41)

“om T\ @ " am

Note that the sign of the quantity in the square root determines if k(w) has any real propagating part. If
w > 2 then the square root gives a real part and hence the sound wave propagates. Then the density goes

2H
as:
—z/2H ; w? 1
Ap(z) = Ae exp | e Vel wt (3.42)

The velocity amplitude can also be determined:

Au = %% — Auoce®?H (3.43)
Po

Note that this implies that the velocity perturbation amplitude will increase if it moves in the positive z
direction. This is not physically possible generally since we have ignored viscosity and considered an isother-
mal atmosphere.

On the other hand, if w < g, then the values of k are purely imaginary. Proceeding with the same analysis
as above, we obtain:

Au = AeFZe™t Ap = BeFZelwt (3.44)

Hence there is no propagation, but the amplitude still depends on the height z. We just have standing waves.

3.3.2 Transmission of sound waves across boundary
Consider non-dispersive propagation of sound waves. Then to the left of the boundary, we have:
Ap = ethrz—wit) 4 peilksz—wst) (3.45)
and to the right, we have:
Ap = teilhzr—w2t) (3.46)

Let the sound velocities be ¢, 1 and c; 2 for the left and right media respectively.

Now we require that the wave be continuous across the boundary. This requires that wy = ws = w3 and

k1 = —ks. We also require that the amplitude be continuous across the boundary, which gives:
l+r=t (3.47)
Requiring that the first derivative of the wave also be continuous, we obtain that:
k(1 —7r) = kao(t) (3.48)
Solving for r and ¢ simultaneously, we obtain:
k1 — ko
- 3.49
" ki + ko ( )
2k
t = 3.50
ki + ko ( )

Note that if the second medium is extremely cold, so that ¢, o is small and k3 is large, then the transmitted
wave amplitude goes to zero.
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Chapter 4

Week 4

4.1 Friday, 5 Feb 2015

4.1.1 Supersonic flows

In the subsonic regime, the vector addition of the subsonic fluid flow and the disturbance (assumed to be
moving spherically outward at the speed of sound) can point in all directions (covers 47 solid angle). This
communicates information of the disturbance to all regions of the fluid. However, in supersonic flow, the
vector sum of the supersonic velocity and the disturbance displacement vector will always have a component
in the direction of fluid flow. Hence there is no information about the flow proceeding in the opposite direc-
tion to the supersonic flow. The information propagates along a Mach cone.

The half-angle of the cone « is given by:

1 (4.1)

. Cs 1
simmo = —
v

= i <
4.1.2 Planar Shock

Let the incoming flow be characterized by wuq, p1, P1 and the outgoing flow be characterized by ws, p2, Ps.
Put the shock along the plane x = 0. Continuity gives:

op 0 _
i %(pur) =0 (4.2)

Integrate the continuity equation around the shock using a box with infinitesimal width. Then we have
(exchanging the order of derivatives and using the fundamental theorem of calculus):

0
a pd:l; + pum‘x:dw/Q - puz|£:—dw/2 =0 (43)

Now we require that the mass flux be conserved across the shock (no build-up of mass in the shock), so that
the first term vanishes. This gives the first Rankine-Hugoniot condition:

pP1Ul = P2u2

where all velocities v are assumed to be in the x direction. Generally the velocity is lower in the post shock
region ug < up so the density in the post shock region is higher than in the pre-shock region.
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Now consider the momentum equation for the gravitational potential and the ram pressure:

0 0 dv
a(ﬂux) = —%(puzux +P)— Pae (4.4)

Suppose that the gravitational potential is constant in space and in time. Then we throw away the last term.
Integrate the DE across the shock, and note that the mass flux across the shock does not vary, allowing us
to let the first term vanish as well:

prui + Pr = pous + Py

This second R-H condition says that the sum of the ram pressure and thermal pressure is continuous across
the shock. We may interpret the shock as redistribution ordered ram pressure motions into disordered ther-
mal motions.

Now assume that the fluid flows adiabatically. That is, we do not allow fluid elements to exchange energy.
We also disallow cooling: Q.oo; = 0. Then the energy equation gives:

oE . ov
— [(F ] = —pQcoo — 4.5
5 TV UE+ Pl = —pQeoot + p, (4.5)
We ignore the terms in the RHS. Integrating the resultant DE across the shock, we obtain:
0
N Edx + (E+ P)“z|x:dz/2 - (E+ P)“r|x:—dz/2 =0 (4.6)

We require that the total energy of the fluid element be conserved across the shock. Then the energy flux
across the shock has to be conserved, and we note that the first term goes to zero. This gives us the third
R-H equation:

[(B1 + P)us = (B> + Py)us |

Note further that the total energy of the fluid element can be written as:

1
E=p (2u2+6+\11> (4.7

where € is the internal energy density. We substitute this expression into the third equation and divide both
sides by pju; = paus (1st R-H condition) to obtain an alternative formulation of the third R-H condition:

1 P 1 P
*u%+61+i=*u§+€2+i
2 P1 2 P2

Call the sum € + % the enthalpy. Hence the third R-H condition tells use that the sum of the energy and
the enthalpy terms are continuous across the shock. Observe that the KE for the pre-shock region is higher
than the KE for the post-shock region. Hence the enthalpy of the post-shock region is higher than that of
the pre-shock region. The shock converts KE into enthalpy.

We may further re-write the internal energy per unit mass of the flow to be:

(4.8)

which follows from:
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c R R
Y= éa CP_CUZT* = 01)(7_1):7* (4'9)
Now assume that the adiabatic factor v does not change across the shock. Then we have the simplified 3rd

R-H condition using the adiabatic sound velocity cs = 4/ %:

1 P, 1 P.
Sy R M Sy (4.10)
2 y—1pt 2 y—1p2
1 2 1 2
= §u§ + _11 = §u§ + _21 (4.11)
Some grungy algebra later...
p2_(+DPB+(v-1DPh w (4.12)

P1 (’Y + I)Pl + (”y — 1)P2 U

Strong shock limit Let P, >> P;. Then p% — Yy—ﬂ which is approximately 4 for a v = 5/3. Hence for an

adiabatic shock, the limiting ratio of the densities is 4.

Consider a fluid element crossing the shock. Note that even though P;/P, can achieve a wide range, p1/p2
is bound. This means that K = P/p” is not conserved across the shock. There is an entropy jump across
the shock - ordered bulk flow is converted into disordered thermal flow.

4.2 Monday, 8 Feb 2015

4.2.1 Isothermal shocks

Note that as compared to the adiabatic shock, we may now take Qcool # 0. We also require 77 = T5.
Note that this does not imply that the shock region itself has the same temperature. The temperature
of the fluid element increases as it enters the shock, and then as it exits the shock, it cools back to a
constant temperature (not necessarily the same temperature) over a lengthscale called the cooling length
lecoor- If the cooling length is on the order of the size of the system, then the system behaves effectively
adiabatically. If we take the cooling length to be small compared to the size of the system and assume that
the asymptotic temperature is the same across the shock, then we obtain an isothermal shock approximation.

In the isothermal case, the first two R-H conditions still hold:

pP1Ul = pPau2 (413)
prui + Py = pyuj + Py (4.14)
Since the temperature is the same on both sides of the shock, we take cg1 = cs2 = ¢ = RZT and
Py = c§p1$2. Combining the two R-H conditions, we have:
cg = U Uy (4.15)
This gives the density relation:
U up )2
p2—1—<1> —M2>1 (4.16)
P1 U2 Cs
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Note further that for a shock, we require that u; > cs. Hence the flow after the shock must be subsonic
uz < ¢s. This condition (supersonic u; implies subsonic us) holds also for adiabatic shocks, but is alge-
braically messy.

Spherically symmetric example Let there be a spherical cloud with p;, Py, T} that is stationary u; =0
embedded in a medium with po, P5, T that is also stationary us = 0. Assume that 77 < T5 so the cloud is
colder than its environment, and let it be denser p; > ps. Neglect gravity. If the pressures are equal, then
the only two processes that occur are diffusion and conduction.

If, however, us > cg, then a shock will form. The shock will be curved due to the spherical symmetry of the
cloud, and is called a bow shock.

4.3 Wednesday 10 Feb 2016

4.3.1 Blast waves

Spherically symmetric expanding shock. At t = 0, let the medium be uniform with density pg. Consider a
point explosion with some associated energy E. Assume that the temperature of the surrounding medium
is approximately zero so that the sound speed is negligible. The blast wave Mach number hence goes to
infinity. Also neglect the other pressures in the medium. Let the radius of the blast wave be R and let its
thickness (small compared to R) be D. Let the blast wave shell have density and pressure py, P;. Let the
pressure in the cavity be Pj,.

Since this blast wave is an extremely strong shock, in the adiabatic regime, the ratio of the densities ap-
proaches the limiting value of % =4 for v = 5/3.

Let the blast wave sweep most of the mass into its shell. Then we have:

47

?poR?’ = 4rp1 R*D (4.17)
1v-1
-1 (4.18)
3v+1
Now move into the frame of the shock. Then we may implement continuity:
PolUp = P1U1L (419)
and the relative velocity of the shock is:
2U0
U=wuy—u ~ 4.20
Up — U1 v+l ( )

in the limit of p;/py = (v +1)/(y — 1).

Now make the further assumption that the pressure in the interior of the blast radius is linearly related to
the shock pressure:

Pin = Oépl (421)

Implementing the second R-H condition:
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Py + poug =P + plu? (422)
2
— P = poul (1 - pl“;) . Py~ 0 (4.23)
PolUqy
2

Now the pressure in the interior of the blast wave will exert a force on the blast wave, and this should result
in a time rate of change in blast wave momentum. Hence:

d (4= 3 d [4r 5 2ug 9 9 2 9
— (= = — | — =4 P, =4 4.2
dt<3p0RU> dt<3poR7+1> R TR T P (4.25)
d 3
— % = 3aR2u2 (4.26)

Note further that ug is the velocity of the shock in the frame of the unperturbed medium, which means that
we can write ug = %. Assume a power law solution. Then the differential equation and ansatz are:

4

w7 (R®R) = 3aR*R? (4.27)
Let R(t)oct’ (4.28)
— b*(4—3a)=0b (4.29)
b= b#0 4.30
= b=, b# (4.30)
— Roct?/(=30) gy oct (Ba=3)/(4=3a) (4.31)
Note that the kinetic energy of the blast wave is:
1/4
KE == ( —=poR?) U2 (4.32)
2\ 3
while the internal energy is largely contained in the cavity:
__1 5 (4.33)
€= popy .
where € is the internal energy per unit mass. Hence the total internal energy is:
47 3 aP1
= 4.34
eV 3 R o— (4.34)
By conservation of energy, we hence have:
1 [4r 47 aPy
E=_|(—pR|U*+—R® 4.35
s (m o2 o 21 (435)
— EocR3uloct(e=3)(=3) (4.36)

Since energy is conserved, we require o = 1/2.
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Chapter 5

Week 5

5.1 Friday, 12 Feb 2016

5.1.1 Blast Waves - Similarity Solution

Recall that the relevant parameters are the explosion energy E and unperturbed density of the surrounding
medium pg. If these are the only parameters of interest, it is not possible to obtain an expression with units
of length. Hence there is no natural length scale in the problem. Introducing a time parameter, we can,
however, obtain the length parameter than depends on time:

5= (Etz>1/5 (5.1)

Po

The dimensionless distance can hence be written as § = .

We also examine solutions for X € {p, P,u,T,v} in separated form: X (r,t) = X;(t)X (&(r,t)). Also assume
spherical symmetry. Then by the chain rule:

oxX dX de¢
L 2
or |, “lde ar|, (52)
oX _dX, dX d¢
= =x=lax /= = 5.3
o, " a TNV @, (5:3)
(5.4)

5.1.2 Breakdown of similarity solution

Note that by taking the temperature of the surrounding medium to be near zero, we have neglected the
pressure due to the interstellar medium. This does not hold in general. This approximation should breakdown
when the pressure in the shell becomes on the order of the ambient pressure. Recall that the shell pressure
is given by:

2 2

pP=— .
1 ~ T 1POU() (5.5)
hence the approximation should breakdown around:
2 9 poc?
=P = 5 =P 5.6
P 1P0U0 1 5 0 (5.6)
— Up A Cs (5.7)
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Hence when the shell is no longer moving supersonically, the approximation breaks down.

We may also estimate the energy of the system in this situation:

9 Y+1,
~ 5.8
47 2 3y—-1
— E(Py~ P)) ~ —poR3 = 5.9
( 0 1) 3p0 mamZerQil ( )

where we note that R,,,, marks the radius past which the blast wave does not propagate significantly (since
the blast velocity becomes subsonic and sound waves are released outwards instead). Note further that the
total internal energy can be written as:

Fo :4£ 5 Capo/Y

—V
CTV LT T 3 tmen T, T

(5.10)

Comparing this to the total energy, we note that at R,,,., the total energy is on the order of the internal
energy. Hence most of the energy of the explosion has been converted into the internal energy of the cavity
region within the maximum radius of the blast wave.

5.1.3 Non-self similar solution with more parameters

We now have three parameters in the model: FE, pg,Tp(cs). We may now construct a natural length scale
and a time scale:

. (E2>1/3 (5.11)

1 E 1/3
i~ L (rg02> (5.12)

5.1.4 Example: ISM

Let the parameters of the ISM be T ~ 10%,p ~ 1072'kgm 3. We also know that R,,.. ~ 100pc and
tmaz ~ 10Myrs and the supernova rate 10" Myr—'pc~3. Comparing the volume of the typical supernova
with the size of a region with 1 supernova per time scale (10%pc), we note that the supernova blast volume
exceeds 10%pc, which implies that the entire ISM should be heated to blast wave temperatures of around
10K. This is clearly not the case since we see star formation. This is an indication that our adiabatic
assumption is breaking down. There is significant cooling and the interstellar region is not uniform. The
blast wave will get stopped when it goes subsonic. Also, the blast wave does not sweep up all the material
— the cold neutral matter in the ISM are sufficiently cold and dense so that they do not get completely
ablated by the oncoming blast wave.

5.2 Monday, 15 Feb 2016

5.2.1 Bernoulli’s equation

Begin with the momentum equation:

1
—+4u-Vu=—-VP-VU (5.13)
ot )
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Assume barotropic equation of state P = P(p) and steady flow so that the time derivative vanishes. Recall
that the material derivative can be written as:

u-Vu = V(%uz) —ux (Vxu) (5.14)

Also define the vorticity w = V x u. For a barotropic flow, we also have:

1 dP
-VP = VJ— (5.15)
P P
Then the momentum equation becomes:
1 dP
V(§u2) —uxw=-V [Jp + \I/] (5.16)

Dotting both sides with u, and noting that the LHS will vanish, we obtain:

u.v[;u2+fcf)+\lf}_o (5.17)

Define H = %uQ + SdTP + U, the Bernoulli constant.

5.2.2 Steady, Irrotational flows

For w = 0, we can write:

VH =0 (5.18)

hence H is constant throughout.

5.2.3 Helmholtz Equation - General flow with vorticity

Write:
ou
Pl —VH +uxw (5.19)
— %:Vx(uxw) (5.20)

Note that if the vorticity is initially zero, it will remain zero.

The flux of the vorticity over a surface S is constant and moves with the flow. This means that the Lagrangian
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derivative vanishes:

D ow DdS
- . = . = 21
Dth ds L o dS+Lw i (5.21)
=Ja—w-d5+jw-3€u><dl (5.22)
s Ot s
s
- a—w-dS—kJS[)wxu-dl (5.23)
s Ot s
s
=Ja—“’.ds+ ﬂ@ w x u-dl (5.24)
P
c(s)
= a—w-dS—l—JVx(wxu)-dS’ (5.25)
s Ot s
-0 (5.26)

5.2.4 Velocity potential

For an irrotational flow w = 0 and incompressible flow V-u = 0, we may define a potential function ®,, such
that u = —VV,, which satisfies the Poisson equation as well (using incompressibility condition): V2W¥,, = 0.

5.3 Wednesday, 17 Feb 2016
5.3.1 De Laval nozzle

Steady flow through a pipe with variable cross section. Let the cross section be A(z). Consider barotropic,irrotational
flow. By continuity:

M = puA (5.27)
— Inp+Inu+InA=InM (5.28)
— Vinp+Vinu+VInA=VinM (5.29)
1 .
= ;sz—Vlnu—VlnA, VIinM =0 (5.30)
Recall further that by the momentum equation for steady state flow without external forces:
. 1
u-Vu = —;VP (5.31)
and hence combining,
i-Vu=c?(Vinu+ VinA) (5.32)
Rearranging,
(u? = A)Vinu = c2Vin A (5.33)

Observe that when the pipe has a minimum or maximum cross section, then the RHS is vanishing and hence
either u = ¢4 (sonic transition) or an extremum in velocity.

Observe that if u < ¢y and the cross sectional area is decreasing, then u is increasing. However, if u > ¢,

and the cross sectional area is increasing, u will also increase! This is due to the great variations of density
in the supersonic regime, so the liquid can be compressed to a great extent.
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5.3.2 Isothermal De Laval nozzle

Consider the Bernoulli equation without gravity:

1 dP
—u? + J- — = constant (5.34)
2 p
The isothermal equation of state is:
T dP
poRerT J—zcilnp (5.35)
0 P

Suppose the sonic transition occurs at cross section A,,. Then by Bernoulli’s equation:

1 1
§u2 +c2np = icg +c21npla,, (5.36)
and by continuity:
puA = pla,, csAm (5.37)
and combining,
A
u2=c§[1+21np|14’"]=c§ [1+21n 4 ] (5.38)
p csAm

Hence given A(z), A, and the sound speed, we may in principle solve for u using the above equation.

5.3.3 Polytropic De Laval nozzle
The equation of state is P = Kp't1/". Note that the sound speed will vary along the tube:

1
2= g um (5.39)
n
[ e
p dp p
1
_ JKTH R (5.41)
n p
= nc? (5.42)
Now by continuity,
M = pla,,csla,cs (5.43)
and combining,
. 2 n/(2n+1)
M n
= — | = 5.44
ol ( Am) oD (5.44)
and including the Bernoulli equation,
1 1 1)
2 nttpeym, (M Ln
<2+n> n Kp Am2<Ap> +K(n+1)p (5.45)

which can be used to formally solve for p.
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Chapter 6

Week 6

6.1 Friday 19 Feb 2016

6.1.1 Spherical accretion

Assume that the gas is at rest at infinity. Hence we expect the gas to accelerate from the subsonic regime
into the supersonic regime near the star (treat as as point mass). Consider a barotropic equation of state

and consider the steady state. Then by continuity:

M = puA = p(r)u(r)dmr?
dlnp dlnu dlnr?
+ +

=0
dr dr dr
dlnp  dlnu 2
dr dr r
and by the momentum equation:
Jdu_ _1dP_GM
dr  pdr 72
odlnu  1dPdp GM
dr pdpdr r?
dlnu dlnp GM
2 _ 2
— Y T % r2
Combining, we obtain:
sdInu o dlnu 2 GM
U =—c(— ——] -
dr s dr r 72
dlnu  2¢2 GM 262
2_ 2 _ s _ S 1—
— (W =c) dr r r2 T (
Define the sonic radius rg = gé\z/[

sound speed.

30

22y

(6.1)
(6.2)

(6.3)

(6.7)
GM > (6.8)

S

At the sonic radius, we observe that u has to be an extremum or cross the
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6.1.2 Isothermal spherical accretion

The temperature is constant, hence the sound speed is known and the sonic radius is well-defined. We want
to solve for p(r) and M. By the Bernoulli equation, we have:

1 dP dP
H=7u2+J—+\IJ, J—=c§1np (6.9)
2 p p
1 M 1 M
— 7u2+cflnpr—=fc3+cflnp|r _¢ (6.10)
2 : ro2e T o
2GM
— w2 =222 [mps—?’} L% (6.11)
p 2 r

Hence we observe that close to the star, for small r, the velocity field is dominated by the effect of the point
mass and the pressure does not contribute significantly. The gas is in free-fall. Now consider the limit as
r — 0. Since we require that the velocity of the gas vanish at infinity, we hence require that:

ps 3 _
R (6.12)
— ps = p(o0)e®? (6.13)

6.1.3 Polytropic spherical accretion

Now the sound speed is a function of the radius. Now the energy equation becomes:

1 GM 1 GM
—u?+ A, np— — = +2lnp, — (6.14)
2 r 2 Ts
Note that for a polytropic equation of state, the sound speed is a function of the density:
2 n+1 1/n
¢, = —Kp; (6.15)

n

The sound speed as a function of the density at the sonic point is:

aM\ 23 Arps 1/3
- p: 1
o= (5 ) (72 (6.16)

Implementing the Bernoulli equation, continuity and the boundary condition at infinity, when the dust settles
we have:

—3/2
2= n/ c2 (6.17)
. G2M2 n—3/2
Y - Peo 7” (6.18)
(G n—3/2

Note that when n = 3/2, or v = 5/3, the solution for M blows up. This is because the sound speed has to
go to infinity at the sonic radius, and the infalling gas never actually experiences the sonic transition.

The accretion rate can also be written as (Bondi-Hoyle-Littleton accretion):

. AT G2 M2 ps
M=————"F"7— 6.19
(€20 + V2)32 (619)
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6.2 22 Feb 2016, Monday

6.2.1 Fluid Instabilities

Consider a fluid in the steady state. Consider a small perturbation in the fluid. There are two possibilities.
The first is that the perturbation decays in time or oscillates. The second case is that the perturbation grows
in time.

6.2.2 Convective instabilities and the Schwarzschild stability criterion

Assume ideal gas, hydrostatic equilibrium and uniform gravitational field. Consider a parcel of fluid with
initial conditions p, P. Perturb the parcel by moving the parcel §z in the positive z direction antiparallel to
the gravitational field. Then the fluid element is now embedded in a medium with parameters p’, P’. The
perturbed parcel will have a different density p* as it expands to match the pressure outside P’. There are
two cases: p* > p/, p* < p'. The former corresponds to unstable rising motion and the latter corresponds to
a stable return to equilibrium.

Consider the adiabatic parcel. Then to first order:

S <1;'>W (6.20)
_ <1 + Ilj‘fll:az) . (6.21)
~p+ %P%&z (6.22)

prrp+ %52 (6.23)

Comparing, we find that under the unstable condition is:

p AP _dp

< 6.24
Py dz dz ( )
Suppose that the fluid is isentropic, so K = p% is a constant. Taking its derivative with respect to z-distance

and requiring dK /dz = 0, we observe that

p dP dp

Py dz  dz
and hence if K is a constant, the fluid is stable at the margin. We may re-write the instability criterion by
replacing the density derivative by a temperature dependence using the ideal gas equation:

(6.25)

1\ pdP pdl
(-t 2
( 7>sz+sz<0 (6:26)
dT

(6.27)

1\ T |dP
— | — | < [([]1—-—=)] —|—
dz v /) dP | dz

where the moduli are included because the first derivatives are actually negative. This is called the
Schwarzschild stability criterion.

Observe that if p* < p’ and since the pressures of the fluid parcel and the surrounding medium are equal,
we have that T*% > T, and the parcel is warmer than its surroundings. The parcel will hence transfer heat
energy to its surroundings, and will finally cool to sink back. Repeating the same argument, the parcel will
now be cooler than its surroundings, allowing the surrounding medium to heat up the parcel and repeating
the cycle again. This flow forms convective cells.
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6.2.3 Equation of motion of parcels in convective cells

* d? (62)

=0t =) (6.28)

p

In the limit of small perturbations, we write p* = p + dp, and use the Schwarzchild equation relating the
derivatives of pressure and temperature:

d*(8z) p dT 1\ pdP
(P +0p) =4 = =9 (sz - (1 - 7> Pd: ) (6:29)
d*(62) 1dT 1\ 1dP 5
1dT 1\ 1dP
2 = p— —_— [ —
N _g<T e (1 7) sz> (6.31)

Observe that this equation of motion is an oscillation with angular frequency N. Hence these are internal
density oscillations.

6.2.4 Jeans instability

Include gravity. Consider a uniform medium (Lagrangian and Eulerian perturbations are the same). Consider
the mass conservation equation, momentum equation and Poisson equation:

ap

otV (pu) =0 (6.32)
ou 1
V20 = 47Gp (6.34)

Substituting the perturbations into these equations and skipping all the grungy algebra (taking linearization
to first order):

A

a(atp) 4 poV - (Au) = 0 (6.35)

A 1
2% _2V(Ap)— — V(AD) (6.36)

ot Po
V2(AV) = 41GAp (6.37)

Consider the oscillatory ansatz:

Ap = pettke=et) (6.38)
Au = uyele=wt) (6.39)
AT = gilkz—wt) (6.40)

This gives the Fourier space representation of the dispersion relation:

S

w?=c2 <I€2 — 47TGPO> =l (k*—k3) (6.41)

where we define the Jeans’ wavenumber k;. Now this corresponds to the boundary between imaginary and
real solutions for w, giving the distinction between the oscillatory and exponential growth modes of the
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perturbation. Hence if k < k;, we have that w is imaginary and the solution is unstable.

Also define the Jeans’ length and the Jeans mass:

_ 2
ok
My = por (6.43)

A (6.42)

6.3 Wednesday 24 Feb 2016
6.3.1 2D Fluid instabilities

Consider the 2D zz plane, with the half-planes above and below the z = 0 plane having two different
conditions. Let the fluid below the z = 0 plane have density and x-velocity (parallel to the z = 0 plane)
p, U, and that above the z = 0 plane have p’,U’. Let a uniform gravitational field act in the —2 direction.
Observe that a pressure gradient is necessary to ensure that the fluid remains in a steady state. Let the
pressure of the fluid across the interface be continuous. Let the fluid be incompressible (V- = 0) and ideal.
Let the flow be irrotational initially (and hence be irrotational for all time). Then it will suffice to solve for
the velocity scalar potential:

Vb =u (6.44)
Consider a sinusoidal perturbation of the z-position of the interface: £(z,t). We require that the boundary
conditions of the problem at z — 400 be that the fluid retains its initial p, U far away from the perturbed

interface.

Now consider the momentum equation:

1
M w-Vu—-tvpig (6.45)
ot p
ou 1, 1
0 1, P
-V— — =— — | =-VVU 4
— Vat+V(2u) V<p) \% (6.47)

We may now integrate both sides with respect to space to require that:

0d

1, P
_ - 4= 4
at+2u+p+ f (6.48)

where f is a constant of integration.

Now we note that we may perturb the x-velocity of the half-planes by perturbing the velocity scalar potential
with functions ¢, ¢’:

O=Ux+¢ (6.49)
= Uzt (6.50)

Now we require that the fluid be incompressible, so V - u = 0 and:
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Vip =0 (6.51)
V3¢ =0 (6.52)

Note further that far away from the interface, we can require that ¢, ¢’ vanish so that ® = Uz, ® = U’z and
hence the velocity field far away is the same as that of the unperturbed initial system.

The change in the velocity scalar potential perturbation with z-position is related to the displacement (to
first order):

9| _DE_d o
oz|,_, Dt ot V% (6.53)
o¢'| DS 0§ 08

Consider the exponential ansatz &(xz,t) = Ae!F2=wt) ¢ = Ceilkz=wt) 4 jo @ = C'etke=wt) 4 4’2 Note that
we add the jz term to account for the velocity component along the z-axis. The vanishing of the Laplacian
of ¢, ¢’ gives:

k2 +3j%2=0 (6.55)
—k*4+()? =0 (6.56)

The sign of j is determined by the boundary conditions. Now we know that ¢ — 0 as 2z — —o0 and ¢’ — 0
as z — o0 so that the velocity field attains the unperturbed value. This gives:

j=k (6.57)

Substituting the form of ¢, ¢’ into the equations in (6.53(— 6.54) gives:
—kC = —iwA + Uik A (6.59)
kC' = i(kU' —w)A (6.60)

Now we have too many unknowns. We appeal to the momentum equation (suitably rearranged and taking
the gravitational potential at the perturbed interface to be ¥ = g¢):

o 2
P=—p <—£+u2+g§) +pf (6.61)
K / N2
P = _p/ (_ a‘i + (UQ) + 96) + p/f/ (6.62)

Since we claimed that the pressure is continuous across the interface, we equate these two expressions to
obtain:

0 2 o / AV
—p <_£ + % +g£) +pf=—p (—;z + (u2) +g£) +of (6.63)
o 2 o' 2
= —p (—a(f + % +g€) =7 (—;Z + (u2) +g€) +K, K=pf —pf (6.64)
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Far away from the interface, |z| » 0, we may set u —» U,uv’ — U’, ¢ = ¢/ = £ — 0, which gives us:

1 1
5U2p = §(U/)2p’ +K (6.65)

and this uniquely defines K. We may also replace u? and (u’)? in (6.64) by including its dependence on ¢:

¢
o¢’
_ r_ g Y9
u=-v§ =U - (6.67)
> 72 0
= u x U’ — 2Ua— to first order (6.68)
x
"2 "2 ,(?(b/
= (u)*~ (U")*-2U . to first order (6.69)
x

Much messy algebra later, substituting the exponential ansatz (to move into the Fourier domain), and
cancelling terms,

piwC — pUikC + pgA = pliwC' — p'U"ikC" + p'gA (6.70)

and simplifying the amplitudes, we obtain the dispersion relation:

p(kU —w)? + p' (kU' = w)* = kg(p — p')

which can be written in terms of the phase velocity:

L, oW _ U gp—p  pp'(U-U")?
Pk ptp T N\kp+p o (p+p)?

(6.71)

6.3.2 Surface Gravity Waves

Consider fluids that are initial at rest in the previous section. Then U = U’ = 0. Also assume that p’ < p
so that the lighter fluid is above the heavier fluid. Then the dispersion relation simplifies:

I
=+
RS
|
A

(6.72)

Up =

E RS
9
<
+
b\

which gives a real w for real k (dispersive waves).

Now consider the case where p' > p so that the heavier fluid is sitting on the lighter fluid. Note now that
for real k, we obtain imaginary w and hence we have exponentially growing perturbations. This is called the
Rayleigh-Taylor instability.

Now consider p > p’ so that the heavier fluid is below, but consider non-zero x-velocities. The term in the
square root can be negative if the wavenumber is sufficiently large:

[p* = (v')*]g

pp'(U = U')?
Then if the gravitational field is zero, the RHS vanishes, and the inequality is satisfied for all k. Hence
the fluid is unstable with respect to perturbations for all spatial scales (all k). For non-zero g, then there
is a cut-off spatial scale for the instability to occur. This instability is known as the Kelvin-Helmholtz
instability.

(6.73)
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Chapter 7

Week 7

7.1 Friday 26 Feb 2016

7.1.1 Thermal instabilities and the Field Criterion

Consider temperature perturbations (WLOG consider small increase in temperature AT'). The unperturbed
state hence corresponds to thermal equilibrium Qo0 = 0.

Case A: Constant pressure Since the pressure perturbations will be evened out on a timescale much
shorter than the thermal perturbations, we may make the assumption that the pressure is constant through-
out the fluid. Then consider the cooling function change as a result of the temperature perturbation:

anool
or

Qcool - Qcool(o) + AT (71)

p

If the last term is negative, then we expect that the system will be unstable since a slight heating will result
in further heating. This is a runaway process. Hence the condition for instability is:

anool

a7 AT <0

P

Case B: Non-constant pressure We ignore gravity for this analysis. Assume ug = O,QO =0,VPh =
0,Vpo = 0, and assume adiabatic processes P = Kp”. Let the fluid have the same initial adiabatic depen-
dence VK, = 0.

op

—+ V. =0 7.2
LV (pu) (72)
ou 1
- -Vu=—--VP 7.3
o +u-Vu P (7.3)
Then consider the pressure perturbation due to density and K fluctuations:
¥ vai 4+ 1F
P=Kp' = dP=p dK—l—?dp (7.4)
The ideal gas relationship allows us to find the relationship between changes in pressure and temperature:
T Pd dT
poRepl _ yp_ PP Repdl (7.5)
Ju P Ju
Combining the equations for the pressure differentials, we obtain:
P R
dK = p'™ (1 =) | =dp + dT] 7.6
=) p? n(l =) (7.6)
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Note that:

P

?dp = —PdV (7.7)

which can be seen by taking p = 1/V. Note further that the second term is:
& _ R

Cy =——— 7.8
ar — T (=) (78)
hence using the first law of thermodynamics, d@Q = d§ — pdV, so:
dK = —p' 77 (1 = 7)dQ (7.9)
dK _ .
== E = pl 7(1 - V)Qcool (710)

Now consider the Lagrangian/Eulerian perturbations (same as the initial unperturbed state is isotropic)
Ap, Au, which result in the perturbations AK, AQc0;- Apart from the usual continuity and momentum
equations, there is the additional relation:

OAK -1 .
i R S N 11
ot pg_l Q l (7 )

The resultant perturbation in AQCOOl can be written in terms of pressure and density dependence:

: anool é\Cgcool
AQ ool = AP A 12
Qcool oP + 2p p (7.12)
P P
Define the following parameters:
Y= 1 anool
A* = — (7.13)
=l op
Po 0
-1 0Q.
B* = Y — anool (714)
py o |,
0AK
= = —A*AP — B*Ap (7.15)
Making an exponential ansatz:
Ap = poetkztat (7.16)
Au = ypetetat (7.17)
AK = Kye'ketat (7.18)

where ¢ plays the role of iw and ¢ > 0 implies a perturbation that grows in time; an instability. Bashing
through the math and solving for the relation between the wavenumber £k and q:

P,
@+ A*plq* + k%p—gq — B¥*k*pj =0 (7.19)

This can be solved to obtain the general conditions for real and positive ¢ roots. If B* > 0, then there will
be a real, positive root (note that all three roots cannot be negative because the last term in the cubic will
be positive in that case). Hence the condition for instability is:

anool
op

V= 1 anool _R*TQ anool

—
|, pP T

<0 (7.20)
P

which is the same condition as in the constant pressure case. This condition is known as the Field criterion.
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7.1.2 Example: Bremmstrahlung

Parametrize the cooling function as:
Qcool = APTa - H (721)

where the cooling component has temperature dependence while the heating component proceeds at a con-
stant rate. Evaluating the Field Criterion:

Qo0 (o= VAP,

= .22
oT R (7.22)
P
and we observe that the thermal instability occurs when:
a<l1 (7.23)
For Bremsstrahlung, o = 1/2, so the fluid will be thermally unstable.
7.2 Monday, 29 Feb 2016
7.2.1 Viscous flows
The continuity equation still holds:
ap
E + 6j(puj) =0 (724)
We update the momentum equation:
a U,
gt = *(’/JjO'ij + pg; (725)
where g; = —0; V. The stress tensor is:
0ij = puu; + Pd;; + O‘;j (7.26)

where we add the extra o}; term to represent the contribution from the viscous terms. Call it the viscous
stress tensor.

7.2.2 Shear stress thought experiment - Molecular viscosity

Consider linear shearing flow in the ¢th direction. Let there be a velocity gradient in the j direction. Then
due to the differential flow velocities, there will be a momentum flux cross individual fluid layers given by
pu;v; where v; is the velocity of the random motions of the fluid molecules. We expect that v; will be
proportional to /kgT/m. The net momentum flux into a streamline is given by the contributions from the
streamlines immediately above and below it:

F = plu; — (w; + 0jwi0l)]on | % = —p(0u;)dlan | ijWT (7.27)

The separation between streamlines 61 should be on the order of the mean free path A = -L-. Approximating

no’
the molecules as hard spheres, we set ¢ = ma?. Then, letting p be the mass density of the molecules, we
obtain:

39



Soon Wei Daniel Lim Astrophysical Fluids (Cambridge NatSci (Physical), Part IT), Week 7

m

ol =

e (7.28)

N m kBT
= F = —p(ﬁju,)mm2 7y - (7.29)

Substituting this ansatz for the molecular viscosity into the momentum equation, and noting that the stress
tensor components are precisely the momentum flux, we obtain:

d(pu; o
(gt ) = —6j (puiuj + P(Sz]) + 8j [@\/ kaT((Sjuz)] + pg; (730)

We take a to be % since it is on order unity. Call n = —%51/mkpT, the shear viscosity. Observe that the
shear viscosity is independent of density.

7.2.3 Navier-Stokes Equation

Write the viscosity tensor as:
2
oy =1 <aj“i + diu; — 35ijakuk> — (0;jOpur (7.31)

The first term proportional to 7 corresponds to the shear viscosity. The second term is called the bulk
viscosity contribution which is due to compression.

For an isotropic substance, we require O',/L-j = cr;-i. Note further that the terms along the diagonal will only
contain bulk viscosity terms because the term in the parenthesis will vanish.

The momentum equation becomes:

o(pus)
ot

Using the continuity equation to combined the LHS term and the first term on the RHS, we obtain the
Navier-Stokes equation in component form:

@ui

2
P (515 + ujé’jui) = —ajP5ij + (9j [7} <§]u1 + &iuj — 36ij6kuk) + Cdijakuk] + pg;

2
= —djpuiu; — &JP&J + 8j |:’I7 (@uz + 6iuj — 3§ij6kuk) + C(S”&kuk] + pg; (732)

In vector form, and assuming isothermal, incompressible conditions, we have:

ou 1 (7 1
§+(u~V)u— pVP V\I/er[V u+3V(V u)]

n/p is called the kinematic viscosity v.

Fully ionized plasma example - Braginskii-Spitzer shear visoscity The main interactions are Coulom-
bic. The mean free path varies as T2, so the shear viscosity coefficient goes as nocy/mT%2. This form is
known as the Braginskii-Spitzer shear viscosity.

7.3 Wednesday 2 March 2016

7.3.1 Vorticity in viscous flows
Make the following assumptions: ¢ = 0,7 = constant. Assume fluid is barotropic P = P(p). Then the
Navier-Stokes equation gives:

ou

1 {7 1
il . = _VP-VU+ 1V z . .
o + (u-V)u 5 P +p[ u+3V(V u)] (7.33)
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Recall that the definition of vorticity is w = V x u. Then take the curl of the entire Navier-Stokes equation.
Examine the curl of each of the terms

Vx(u-Vu)=V><<;u2ux(qu>=Vx(uxw) (7.34)
VxVU=0 (7.35)
1 1 1 1 1
V x (VP) =V () XxVP+ -V xVP = (—QVp> xVP+-VxVP=0 (7.36)
P p P P P
Hence we have:
1
%:Vx(uxw)+an7V2u (7.37)
p

where we note that V x Vu? = 0. Note that the first two terms correspond to Kelvin’s vorticity theorem.
We assume that the kinematic viscosity v = n/p is constant. Since the viscosity is already a constant, we
require that the density also be a constant. The viscous term can be evaluated explicitly:

Hence we have:

%‘::Vx(uxw)—kgv%v

Observe that the presence of the viscous term allows vorticity to be generated even if the initial vorticity is
zero. Vorticity can also be damped by the viscous term.

7.3.2 Energy dissipation in incompressible viscous flows

Consider an incompressible fluid (d;u;) = 0 with total kinetic energy:

1
Ejin = f 5pu%zv (7.38)
Ignore gravity.
Consider the time derivative:
0 (1
En <2pu2) = u;0(uip) (7.39)
= —ui&jaij (740)
= *ui(}j (pUin) — ul(')Z(;HP — uiﬁjogj (741)
’ then some magic happens... ‘
1 P
= —0; |:p’U,i <2U2 + p) + UjO';jj| + agjé’jui (742)
Several important magic formulae include:
13 ) = P oo (P = w0 (o 7.43
3 i (pujuiug) = o UitliojU; + Uy J(iulul) = u;u;0;(pus;) (7.43)
/ /
o =0 (7.44)

To obtain the rate of change of total kinetic energy, we integrate over the entire fluid:

0Fkin 1 P
pra —f@i [pui <2u2 + p) + ujaz’»j] av + fa;jaju,»dv (7.45)

1 P
= —§ [pu (2u2 + p) +u- o"] ~da + fagjajuid‘/ (7.46)
5
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Observe that the first surface integral corresponds to the work done by the ram pressure, thermal pressure
and o’ over the surface. We implement the condition that the velocity vanishes at infinity. Then considering
all space, the first surface integral vanishes. The second volume term corresponds to the rate of dissipation
of kinetic energy due to viscous forces. Hence we have:

aEkin
- %Jogj (0ju; + 0;uj)dV, symmetric matrix (7.48)
1
-1 J 0 (O + o)’ AV, oy = — (Byus + dyuy) (7.49)

Observe that the integrand is negative definite. Hence the kinetic energy decreases monotonically. In the
absence of viscosity, kinetic energy is conserved. Note that this viscous effect takes place in the shock,
thereby changing the energy and entropic content of fluid elements crossing the shock.

7.3.3 Example: Viscous flow in pipe

Consider a pipe with radius Ry. Let the flow be steady and in the z direction: u = (0,0, u.) in cylindrical
coordinates. Let the fluid be incompressible and neglect gravity. By symmetry, u, varies with the axial
radius and has to vanish at the edge of the pipe. The Navier-Stokes equation in this case is:

1
0=—-VP+v|[Vu] (7.50)
P
1dP 1 d [ du.
., a1 d 51
D dz ”RdR(RdR> (7.51)

Since the LHS and RHS are functions of different coordinates, they must individually be constants. This
implies that the gradient of pressure is a constant. Define AP to be the decrease in pressure across the pipe
(this adds a minus sign).

1AP 1d du,
= - - — (R 7.52
p 1 "RdR ( dR) (752)
Integrating and implementing the boundary conditions at the pipe circumference:
AP
= —(R§ — R? 7.53
w= o (8= ) (753)
The mass flux through the pipe can be obtained through integrating the cross section:
fto AP
J = J 2mpuRdR = ”877 R: (7.54)
0

Observe that in the limit ¥ — 0, the flow rate is unbounded for finite pressure drop. This means that in
inviscid flows, there can be no pressure gradient.
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Chapter 8

Week 8

8.1 Friday 4 Mar 2016

8.1.1 Accretion Disks

Let the objects in the disk move with Keplerian angular velocity Q = 4/ %]gf which arises from the balance

of centrifugal and gravitational forces. Observe that the angular velocity varies with radius, indicating that
concentric layers are shearing against each other. The shear flow results in momentum transfer towards
the center of the disk, and this corresponds to mass transfer as well. Proceed in cylindrical coordinates
(R, ¢, z) and assume that the disk is axisymmetric: j—f = 0 for all parameters f(R,6,z). Assume hydrostatic
equilibrium along the z-axis: u, = 0. Note that the azimuthal velocity ugs will be very close to the Keplerian
angular velocity and will dominate the radial velocity ugr. Also assume that the bulk viscosity ¢ = 0 so we
do not have any shocks.

Then the Eulerian continuity equation gives:

op 1 0 10 (puy)

% " RoR (Rpur) + R%(P%) Tt = 0 (8.1)
op 1 0

The Navier-Stokes equation (and not the momentum equation) gives (assuming ug,us do not have z-
dependence):

Oug Oug ugug\ [ Pug 1 0ug uy on (Oug ug
p(at TURGR T TR )n<aR2+R6R 7)) am\oR "R (8:3)

Define the kinematic viscosity v = % and the column density ¥ = {pdz. Define also the mass-average
kinematic viscosity:

_ Spvdz  §ndz
= = 4
Y §pdz by (84)

Let 7 replace v in the fluid equations:
oY 1 0
Oug Ougy  URUG o Pug 1 0uy g o(rY) [Ouy  ug

n (& L > _ e Us Ty Yo 8.6
(at TURGR T TR “\ore "Ror "®) T or R "R (8.6)
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Combining,
0% 0 10 ds) ou ou URU
oy L (Roug) = =2 (oeRr*EE) Ry (Ze o | URrYY .
Ruy pn +u¢aR(R UR) RIR (u R 8R> R <6t +up R + 7 (8.7)
0 10 9 10 [ 3d9
= = (RXug) + "R (ER?upuR) = RoR (VZR dR> (8.8)

Note that the first term corresponds to the rate of change of the angular momentum (per unit area). The
second term corresponds to the advection of angular momentum radially (i.e. net rate of angular momentum
loss per unit area due to advection). Advection: transfer due to mass flow. The RHS is the net torque
exerted (per unit area) due to viscous processes. The net viscous torque dG(R) exerted on an annulus is
hence obtained by multiplying the surface area:

1 0 (.o,,3d82
— G(R) = 2risRs 92 (8.10)
dR '

For a Keplerian orbit, the azimuthal velocity is approximately constant:

aqu
— =0 8.11
ot (8.1)

This allows us to solve for the radial velocity:

o

7 (P2Rg7)

oR
up = - (8.12)
RY & (R2Q)
and using the Keplerian angular velocity,
345 (VSRY?
up = _M (8.13)

ERl/Z

Knowing ug allows us to calculate the surface (column) density by plugging it into the continuity equation:

05 _ 30 [pip 0 (sop12
ot ~ RoR [R o (75R7) (8.14)

The above is known as the viscous diffusion equation for the accretion disk.

8.1.2 Analysis of solutions

Consider a constant kinematic viscosity. Let the mass of the disk be contained at some radius Ry initially.
Note that the diffusion equation will cause the density to spread out in time. However, the spreading is not
symmetric; most of the mass will flow inward. However, there will be some mass flowing outward, and this
mass will carry the majority of the angular momentum outward.

Define the radial viscous timescale t, = %. It can be shown that the viscous timescale is on the order of

ty, ~ B = BR o that up = #. The Reynolds number R is defined:
v u¢
R
R = 54’ (8.15)

In protostellar disks, the Reynolds number is very high: 104, so the viscous time is greater than the Hubble
time. Hence the molecular viscosity does not operate in protostellar disks. There are, however, other
mechanisms that implement an effective viscosity to decrease the viscous time.
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8.2 Monday 7 Mar 2016
8.2.1 Steady Thin Disks

Recall the continuity equation written in terms of the column/surface density ¥ = § pdz:

oy, 1 0
Z 4L - __ (RY = 1
E +R6R<R ur) =0 (8.16)
For a steady disk, there are no time-dependences, which allows us to integrate once:
REU,R = C1 (817)

We know the constant mass accretion rate with circular symmetry is related to the radial velocity and surface
density:

1 = —2rRSup (8.18)

and hence ¢; = —3%. Under the assumption that the azimuthal velocity is equal to the Keplerian velocity,

we also have a relation for the radial velocity:

_3% (VSRY?)

UR = S R1/2 (8.19)
Hence upon substitution of (8.17)), we obtain a differential equation. Impose the boundary condition that:
3 =0, R=R, (8.20)

where R, represents the outer radius of the disk. Solving the differential equation on the domain R < R*
by separation of variables, we hence obtain the dependence:

. 1/2
~ m R,
Y=—|1—-|— 8.21
v 3m l ( R > (8:21)
Observe that the kinematic viscosity is related to the mass inflow rate.
8.2.2 Viscous dissipation and luminosity
Define the dissipation power Fgy;ss = —aEa%. In component form:
av
Faiss = — | 07051 5—— 8.22
! f 75" RAR (8.22)
1
-5 Jn (O5u; + @-uj)z dz, substituting viscous stress tensor and symmetrizing (8.23)

an\?

R —) dz 8.24
J (dR) 520
Recall that the viscous torques go as G(R)OCRZ—%. This is consistent with the form of equation 1) SO
that the dissipation is due to the viscous torques. Performing the integration over the z-direction, using
the definition of the surface density, and substituting out the viscosity for the kinematic viscosity, we hence
obtain:

A\ 2
Fliss = VISR? | — 2
diss vER (dR) (8 5)
3GM . R\ 2 GM
T _<R> - = (8.26)
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Integrating over all the disc area, we obtain the total power emitted:

f Fuiss = f Fuipe2rRAR = —-" (8.27)
A Ry 2Ry

Note that the total power can be interpreted as the rate of gravitational potential energy loss due to the
transfer of mass inwards. However, note that the factor of 2 in the denominator implies that only half of the
gravitational potential energy flow goes to the total power emitted (i.e. radiated away as luminosity). The
other half of the energy flow goes to the kinetic energy of the inflowing material.

Estimating temperature of accretion disks We implement the Optically thick limit. This means
that the radiation interacts many times with the fluid so that it attains a well-defined temperature and a
Maxwellian distribution. Define the effective temperature as a function of radius T.y(R). We match the
blackbody emission flux with the viscous dissipation Fj;ss. There is a factor of 2 because the area of the
disk has a top and bottom surface:

opT.;r(R)* = % 1— <IE‘>U2 (8.28)
In the limit of large radii, we neglect the R-dependent term in the parenthesis and hence obtain:
Tops ~ R34 (8.29)
which is called the characteristic power law for disks.
We may also obtain the total radiated flux at frequency f using the Planck distribution:
Rout 3
F(f) = JR* %WQﬂRdR (8.30)

8.2.3 Plasmas and Magnetohydrodynamics

Assume that we can describe the motion of charged particles using fluid equations. That is, assume that we
can define a fluid element and that the particles collide. Consider positively and negatively charged particles
with masses and velocities m4, m_,u,,u_. Mass conservation requires:

%* +V - (nu_) =0 (8.32)

Define the center of mass velocity and total density:

miniyUy +mon_u_
= U (8.33)
myng +m-_n_

p=myng +m_n_ (8.34)
Then we may combine the two mass conservation equations:

op B
5tV (o) =0 (8.35)

Also define the total charge and current densities:

Q=nye" +n_e" (8.36)

j=e njul e n_u_ 8.37)
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so that charge conservation can be written as:

09 .
Z2AVvV.i=0
a VI
Now consider the Lorentz force:
F =e(E+ux B)

The momentum equation for each species will then have to include the Lorentz force:
Juy +
m4n4 W—FUVUJF =€ n+(E+u+><B)—f+VP

m_n_ (agt—ku~Vu> =en (E+u_xB)-f. VP

(8.38)

(8.39)

(8.40)

(8.41)

where fy is the fraction of the pressure applied onto the positive and negative particles respectively. Note
that the w in the u - Vu, term refers to the center of mass velocity. The combined momentum equation can

be written:

p<(ZL+u~Vu>=QE+j><BVP

8.3 Wednesday, 9 March 2016

8.3.1 Magnetohydrodynamics and Maxwell’s Equations

We rewrite the continuity equation in terms of the current and charge densities:

09 .

The momentum equation is:

p(?;—&-u-Vu):QE—ijB—VP

To form a closed set of equations, we introduce Ohm’s Law:
j=0(E+ux B)

where o is the electrical conductivity. We also include Maxwell’s equations:

V-B=0
_Q
€0
10FE
B = poj + - =
VX MOJ+Cat
0B

VxE-_-22
X ot

1
Vo€o

where the speed of light is ¢ =
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8.3.2 Non-relativistic treatment of plasmas

First consider the dimensions of the parameters. The ratio E/B has units of velocity, which we consider to be
the characteristic velocity. Observe that we may compare the sizes of the displacement current contribution
to that of the curl of the magnetic field:

1PE 2

2ol U
il 8.50
|V x B| T2 (8.50)

In the non-relativistic limit, we consider that the characteristic velocity w is much smaller than the speed
of light, and hence this ratio is small. We hence neglect the displacement current contribution and write an
approximate equation:

V x B = jij (8.51)

We also consider that the curl equations give (approximately):

E Q
—~= 8.52
I~ (8.52)
B ,
T~ Hoj (8.53)
o) E
— Bl 8.54
€opoj B (8.54)
QE| u®
~ — 1 .
ixB & « (8.55)
— 0« % (8.56)

We are hence justified in assuming charge neutrality.

8.3.3 Flux freezing approximation

Assume that the electrical conductivity o is a constant in time and space. Take the curl of the magnetic
field curl equation and simplify using Ohm’s Law to get:

Vx(VxB)=Vx(uj) (8.57)
= oo [Vx E+V x (u x B)] (8.58)
= [0 [— +V x (u x B)] (8.59)
= [0 [— +V x (u x B)] (8.60)
=V x(uxB)+ L v2p (8.61)
oo

Note that this equation looks similar to Helmholtz’s vorticity equation. The second term hence corresponds
to the advection of the magnetic field lines by the fluid. The third term plays the role of the “viscosity”
term and diffuses the magnetic field lines in space. Hence the finite electrical conductivity (in a non-perfect
conductor) allows for the diffusion of the magnetic field lines. We may, however, assume that the plasma is
a good conductor and take o — o:

0B

Fr V x (u x B) (8.62)
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Then the flux of the magnetic field will hence be conserved in co-moving surfaces with the fluid. The mag-
netic flux hence moves along with the fluid in a Lagrangian manner. This approximation is known as the
Flux freezing approximation.

Another implication of the high conductivity approximation can be obtained by examining Ohm’s Law:

j=0(E+uxB) (8.63)

and since 0 — oo but the current density j is finite, we obtain that the term in the parenthesis must vanish:

E+uxB=0—=— E-B=0 (8.64)

where the last implication was obtained by taking the dot product of both sides of the equation with B.

8.3.4 Ideal MHD equations

To summarize the previous analysis, we write the Ideal MHD equations under the non-relativistic, charge-
neutral, high conductivity regime, where the electric field has been completely substituted with the magnetic
field:

% +V-(pu)=0 (8.65)

ot
p(ZL—I—u-Vu)—ij—VP (8.66)
V x (ux B) = aa—f (8.67)
V x B = joj (8.68)
V-B=0 (8.69)
P=Kp’, = > (8.70)

3

8.3.5 Magnetic Pressure

We proceed qualitatively to obtain a condition where the magnetic pressure is significant compared to the
thermal pressure (hence requiring an MHD treatment). Recall the Lorentz force:
Fp =¢(E+ux B) (8.71)
We neglect the electric field term and define a magnetic force density fi.qq that is given by:
fmag =3 x B (8.72)

Then by the Maxwell equation for the curl of the magnetic field, we obtain:

1 1 BQ
Fmag = —(VxB)x B = fmag = — (—V () +(B- V)B) (8.73)
Ho Mo 2
Define the magnetic pressure corresponding to the first term on the RHS:
B2

mag — & .74
p g 2,”0 (87)
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The second term (B -V)B corresponds to the magnetic tension per unit area due to the magnetic field lines.
The tension operates along the direction of magnetic field lines.

Proceed by dimensional analysis. Recall that the ram pressure went as % pu?, the thermal pressure went

as pc and now we have defined a magnetic pressure that goes as %. We define a characteristic velocity

associated with the pressure gradients driven by magnetic fields in the plasma by writing:

1B 1 , B2
—— ~ —pUy = Vg = — 8.75
2o 204 Pl (8.75)

where we call v4 the Alfven velocity. We may also define the Alfven velocity as a vector pointing along
the field lines:
1
v/ PoHo

Note that if the magnetic pressure is high enough, it can suppress star formation by reducing the density of
collapsed regions and smoothing out the shocks.

Vp = B (8.76)

8.3.6 Plasma Waves

Consider an ideal fluid with constant initial density, uniform initial By. Consider a small perturbation in
exponential form proportional to ei(F*—wt),

Case 1: Longitudinal MHD waves k L B. The velocity of these waves go as 4/c2 + v3.

Case 2: k || B. There are two types of solutions. The first is ordinary sound waves that propagate
with velocity c¢s. This corresponds to waves propagating along the field lines, and hence are not affected
by the magnetic field. The second solution is associated with the magnetic tension, which requires a non-
isotropic magnetic field so that the tension term is non-vanishing. These are transverse waves with particle
perturbation velocities perpendicular to the Alfven velocity. We call these pure MHD waves, propagating
with velocity v 4.
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